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Department of Education - Western Province 
Year End Evaluation - 2022 (2023 March)

MATHEMATICS - Grade 11

Marking Scheme - Part I

 Part - A 

(01)

Q.No.

2 000
20 000

´100%

10% 1

2(02) (x+3) (x-2)

2
1(03) 0x+70 = 3x

0x =35 1

2(04) 0.699

2

2

(05)

(06)

1
2

0OCB = 70
0

OAD = 70

´ 2 22
7

´´ 7 - 14

1

2(07) V=40´20
2   =800cm 1

2

1(08) gradient =

y=    x 1
3
2

2

1(09) x £ 1

1-2 -1 0 1 2 3 4 5

2(10) BC=12cm

OD=    BC 1
1
2

(11)
26xy

1(12) Man days  = 6´4-5´2
14 remaining man days 1 2

(13)

(14)

0ADB = 45
0

ACB = 45

31

1

2

2

(15) 5 years 2
8

100
´ 25 000/ Rs. 2 000 1

(16) BC = 9cm
FD = 4.5

2
1

1(17)

21

1
2x = 1

x = 
1
2

(18) 2
1

0
x = 130

0 0
360 -x = 230

1(19)
21

Time taken = 
10 Minutes  

500
50

2

1(20)

1

4
9

= 20

Total students = 45

2(21)
1

a    = 5cm
AC = 15cm

21(22) (2   1)

2

(23)
e

A

B

2(24) (ii) 3´1.7

2
1

(25) Drawing the parallel line to AB 
which is 4cm away from it 
Marking intersection point 

·

· 1
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8cm

1

1

3
2

2
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Part - B 

(01) (a)  (i)

1

2
5

=
16+15

40

10

(ii) Area of the sector

(iii)  Area of the remaining part

10

(03)  (i)

(02) (i) 
0

90
0360

´ ´ ´7

AC = 11cm

= 5 000 000 ´ 

-2-

1

3

1

1 4

1 2

1+1

3

2
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+
3
8

1=
31
40

1

(ii) (1-     )31
40

´ 1
9

1
40

1

1
40

of the clothes  = 7 000

Value of the }total stock
= Rs. 280 000

1

 (b)  15´8
12

=10

2 more days

2

1 3

AC = 2
22
7

0
90

0
360

´ ´7 = 
22
7

´7

1
2

´ ´ 7-38.5 = (15+7)  

2
38.5cm = 1

(iv)  For shade 

= 11+7´2

= 25cm

1

1

1
3

Value of the motor car

140
100

= Rs. 7 000 000 

2

1 3

(ii) Value of the three wheeler 

Rs. 100
140

´ 420 000 

Rs. 300 000

2

1 3

(b)  (i)  Number of 
shares = 30 000

60 

= 500

(ii)  10 000
500

Dividends paid =  

Rs.20

1

1 2

= 

1

1 2

(04) (i)

10

Marks 

0-10

20-30

No. of 
Students

6

10

10-20 bar
30-50 bar

1
1 4

(ii) Number of students who 
got more than 20 marks 26 1 1

(iii)

10 20 30 40 50

2

4

6

8

10

N
um

be
r 

of
 S

tu
de

nt
s

Marks0-10 60

Marking 2 end points 
correctly

 
Completing frequency 
polygon

1

2

3

(iv) Angle of the sector 
0

=      ´ 360
0= 144

16
40

1

1 2
10

(05) (a)(i) Marking sample space 

(ii) Encircling 

Probability = 
8
20

= 
2
5

(b) Completing tree diagram 
corresponding to first bus 
halt
Writing probability of first 
branch

Writing probability in other 
two branches 

(i)

1 - (ii) 7
10

´
6
9

= 
8
15

2 2

1

2 3

1

1

31

1

1 2
10

2
38.5cm = 

1

perimeter

( (

1

(a)  

1

1
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Department of Education - Western Province 
Year End Evaluation - 2022 (2023 March)

MATHEMATICS - Grade 11

Marking Scheme - Part II
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(01)  (i) Amount to be paid
 

1

(05) (a) (i) 

= Rs.60 000

Monthly portion  = Rs.60 000
    12

= Rs.5 000 1

Interest for a month unit = 5 000 24
100

´ ´ 1
12

= Rs.100

Number of month units  = 
12´13

2
= 78

Total interest = 100´78 

= Rs. 7 800 

Installment amount = 60 000+7 800
12

1

1

1

1

1+1

= Rs. 5 650 1

1

10

10

(02)  (i) 4 1

(ii) Correct axes 
Marking at least 6 points correctly 
Smooth curve 

1
1
1

(iii) 2 < x < 4

10

1

3

2

(iv) (2,4)
2

y=4-(x-2)

2

2 2
(v) 22=4-(x-2)

2 (x-2) = 2

x-2    =   2

3.4-2 =  2

1.4    =   2

Ö

Ö

Ö

1

1
2

1 10

(03)  (i)Perpendicular distance = x-4 1
x ´ (x-4) = 20
2

x - 4x -20 = 0
1 2

(ii)
2x - 4x+4 = 20+4

2
(x- 2)  = 24
(x- 2)  =  4´6
(x- 2) =  ± 2  6
x= ±2 ´ 2.45+2
x= 6.9 or x = -2.9

Ö

Since x is length it cannot be x  = -2.9 
x= 6.9cm  
perpendicular distance = 2.9cm

Area of the parallelogram = 6.9´2.9=20.01

Error =  0.01
20

´ 100%

= 0.05%

1
1

1

1

1
1
1

8

(04)  Copy the diagram and 
marking the bearings 

Drawing DE
0 tan 35 = DC

50
DC = 50´0.7002

DE = 35.01m

Sin DAE = 

= 35.01m

DE
40
35.01

40
=

0.8753=

Ù

DAE = 
061 5

Ù

1
1

1

1
1
1

1

1

1

1 10
10

2x+3y=360
3x+2y = 340

4x+6y = 720
9x+6y = 1020
         x = 60
        y  = 80 

 (ii) 

 (b) 2x +3
(2x-3) (2x+3)

1
x+3

-

1
(2x-3) 

1
x+3

-=

(x+3)-(2x-3) 

(x+3) (2x-3)

6-x

(x+3) (2x-3)

=

=

1

1
1
1
1 4

1

1

1

1
10
4

(06) (i) 22-26 1

V
ol

um
e 

of
 

m
il

k(
li

tr
e)

M
id

 v
al

ue
x

d f fd

10-14
14-18
18-22
22-26
26-30
30-34
34-38

12
16
20
24
28
32
36

-12
-8
-4
0
4
8
12

4
8
11
12
10
8
7

-48
-64
-44
0
40
64
84

¢

1 2

1

 (ii) Ö

-3-

Sf
=
60

Sfd
32
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x column
fd column 
Sfd

1

10

6

1
1

Mean  = 24+
32
60

= 24.53 litres 
To the nearest whole number = 25l

1

1

1

(iii) Expected income   = 25´25´300
                              =  Rs. 187 500
Maximum income = 300(30´10+34´8+38´7)
                                Rs.= 251 400
                   Difference = 251 400-187 500
                                Rs. = 63 900 < Rs. 64 000  

1

1

3

(07) (a)(i)
2+(12-1)d=35
d=3

1
1

(ii) Progression is 5,11,17,23...

S  = 25
25
2

{10+24´6}

 = 25
2

´ 154

 = 1 925

(b)

1

1

1

1

3

4
9T = a ´2  10 

a   =             1024
9

2
Area of moss spread 

1

1

1 3

10
(08) (i)

4

10

7cmA B

6cm

O

AB = 7cm construction (±0.1)
BC = 6cm construction (±0.1)

0 0ABC = 90 construction (±0.1 )
Correctly completing the triangle 

1
1
1
1

(ii) Constructing perpendicular bisector
Constructing circle  

(iii) OB and AB are perpendicular 
Perpendicular drawn to the radius is a 
tangent   

1

1(iv) AC = 8.2 ± (0.1cm)
2 2 2

AC = 7  +6
AC =   85
  85 =  8.2 (±0.1) 1

Ö

1

2

1

1
Ö

3

C

P

BD

A

O
aa

(09) (a)

If the side of cycle quadrilateral 
is produced, the exterior angle so 
formed is equal to the interior 
opposite angle of the quadrilateral 

a

b

(b)

0 OPB = 90 (The line joining the 
mid point of the chord to the 
centre is perpendicular to the chord)

In the right angled triangles 
OPB and OPC 
OB = OC (radil)
BP = PC (data)
DOPB º D OPC (RHS)

BOP = POC = a 
(Corresponding elements of 
congruent triangles)

BOC = 2a / BAC =    BOC = a
(Angle subtended on the centre 
is twice the angle subtended 
on the circumference)

1
2

BAO = BOP = a

Ù

Ù Ù

Ù Ù

\ ABOD is a cyclic quadrilateral
(Exterior angle is equal to interior
opposite angle in the cyclic 
quadrilateral) 10
(10) (i)

A

D E F

CB

>

>

Copying the diagram and 
marking the data

T = a+(n-1)dn 1

In the first week } 2
2m

1

1

21

1

1
1
1

Ù Ù Ù
1

1

1

1

8

1 1

1

C
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(ii) DE // BC

DE =    BC (since mid point 

theorem) 

1
2

DE=EF (data)
DF=BC 
BCFD is a parallelogram 
(opposite sides equal and paralled)

(iii) AE=EC (E is mid point of AC)

DE= FF (data)

AED = CEF (vertically opposite angles)

ADED º CEFD (S.A.S)

(iv) AE=EC (E is mid point of AC)

DE= EF (data)

ADCF is a parallelogram 

(Diagonals bisect each other)

Area of ADC D = Area of DCFD

(The area of the triangle lie on the 

same base and same pair of parallel

lines are equal )

Area of BCD D = Area of DCFD

(Diagonals bisect the area of the 

parallelograms)

or

Area of ADC D + Area of BCDD

2´ Area of D DCF 

(Area of parallelogram ADCF)

(Give marks for any other correct 

methods) 10
(11) (i)

Petrol
Kerosene 

Diesel

1 1

(ii)

Petrol
Kerosene 

Diesel

e
300

15
20

1

(iii) = 75
300 = 1

4Probability 

(iv)

35
20 1 2

115

20
15

Petrol
Kerosene 

Diesel

100-x+x+115-x=300-150

x = 65
Completing the Venn diagram 

2 2

2

1
2

5

10
(12) (i)

15cm

Capacity of the cylindrical vessel
= 25 ´ 15

3= 375cm 1 1

(ii) 4
3

3 pr ´ 10 = 1
3

´ 25 ´15

3 
r =     ´25´15´3´1

3
1

4p´10

3 r =     75
8p

3 r =     1
3

2
´ 75

p

3 
r =     1

2
´ 75

pÖ
3
     

(iii)   
r =     1

2
´ 75

pÖ
3
     

  2r =     75
pÖ

3
     

  
d =     75

3.14Ö
3
     

lgd =    ´{lg75 - lg3.14}

=     {1.8751-0.4969}

=     ´ 1.3782
=    0.4594
=    antilog 0.4594d
=    2.88

1
3
1
3
1
3

The graph of y=x(4-x)
10

1

1

1

Ù

Ù

3

Ù

1

1

1 3

1

1

1 3

1

1

1 3

1

1

2

1

1
6

(02)
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